
Supplementary material 

Table S1 Displacive mode decomposition and VA/VB as a function of mode amplitudes for 15 

perovskite structures. 

ap denotes the cell dimension of the cubic aristotype. The mode amplitude is a fraction of ap. The prime 

symbol in d′ is omitted for tidiness. The three subscripts of d are, in sequence: the relevant atom type, the 

irrep and the group of digits indicating the linear combination of the corresponding basis modes of the 

irrep. The VA/VB expressions are the same as in Table 3 of the text, with that following the equal sign is in 

terms of the amplitudes of all the symmetry-adapted modes of X anions condensed in each perovskite 

structure, and that following the approximately equal sign is in terms of only the tilt mode amplitudes. 
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g a-b-b- No. 15 I2/a (non-standard setting of C2/c) 
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k a+b-c- No. 11 P21/m 
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